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B| B |EB| X5 | &% | RE
SRC | REC

111 1 | 8| -& 16.8 | 5.9
2 | A M 10.4 | 7.0
3 | k| e 17.8 | 8.2
4 | Kk | e 20.3 | 5.8
5 | K | e 21.9 | 5.5
6 | & | o 20. 1 7.3
7 | £ | <sy | 159 8.4
8 | H 3] 15.5 | 11.3
9 | B | <dY | 222 | 148
10 | k| -e 19.6 | 13.7
1] K | -e 15.8 | 7.0
12 | K| -e 125 | 4.9
13 & | <3y | 146 3.9
| £ | = 1222 9.3
15| B [ <3y | 19.2 | 11.8
16 | B [ <3y | 205 | 14.0
17 | & | <Hy | 19.5 | 14.1
18 | /& [ <3y | 16.6 | 13.6
19 | K | <&y | 16.2| 8.7
20 | & | e 13.8 | 7.8
21 | £ | <&y | 156 | 6.9
22 | B [ <HY| 128 ] 6.0
23 | H M 9.3 | 8.4
24 | k| <HY | 16.2| 8.5
25 | K | <ty | 7.3 6.0
26 | K| 54| 0.6
21 | & | - 11.9 | 3.3
28 | £ | 7@ 8.8 | 5.2
29 | B M 9.0 | 2.7
3 | B | <&y | 135 1.1
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HEE EEE
([) (7v)
19.6 16. 4
21.9 19.9
21.3 17.4
18.1 13.7
17.9 13.7
23.17 18.9
18.8 16.5
18.7 17.6
16.6 13.9
13.9 11.4
19.5 16. 6
26.0 22.0
23.5 20.7
20.0 19.4
20.0 18.3
16.3 13.5
18.9 16.1
21.9 20. 2
16. 2 13.6
27.1 24.3
25.2 22.0
25.0 21.6
25.6 24.8
24.3 22.0
29.8 28.3
36.3 34.9
31.2 31.7
32.7 29.9
40.9 35.8
35.0 31.8
11.9 626.9

TEEH

) - () (2) x48
-0.9 144
-19.6 14
-1.17 466
4.4 869
3.4 821
-6. 1 614
-9.7 331
-17.6 0
-9.5 211
-2.0 451
-0.3 182
-9.4 605
-9.9 518
-19.4 0
-16. 2 101
-0.4 629
-9.5 317
-19.5 34
-3.6 430
-21.9 115
-11.5 216
-12.2 451
-24.8 0
-19.4 125
-21.3 48
-34.17 10
-25.0 322
-25. 1 230
-30.3 264
-25.0 326
B#BER28 9,768




